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Read the following instructions carefully before you begin to answer the questions. This Question Booklet has
in all 70 objective type questions with multiple choice answers, viz, questions from Serial No.1 to 25 on
Arithmetic in Section-A, questions from Serial No.26 to 50 on E nghsh in Section-B and questions from Serial
No.51 to 70 on Computer Basic Skills in Section-C. One mark each shall be awarded for ¢ giving correct answer
to each of them.
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. This Booklet contains in all 70 questions.
. All questions are compulsory and the distribution of mark has

been indicated above.

. Before answering any question, checkup the Booklet and ensure

that it contains 09 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

. The Invigilator, shall supply you one blank OMR Answer Sheet.

Write your Roll Number, Question Booklet Serial Number and
Question Booklet Series Code in the spaces and darken the
corresponding circles/ovals provided therein carefully by
black/blue ball point pen only. You must write the name, date and
center of examination and pul your full signature in the
appropriate spaces provided therein before answering any
question,

- A machine will read the eoded information furnished by you in

the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

. These instructions must be complied with fully failing which your

Answer Sheet will not be evaluated and Zero mark will be
awarded,

. Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of

the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only, Answers not shown by
black/blue ball point pen or shown by blackening more than one
circle/oval shall not be awarded any mark.

. Failure to hand over the Answer Sheet to the Invigilator before

leaving the examination hall/room will make you liable to penal
action.

. Read carefully the instructions of answering cach question before

answering it.

Answer the questions as quickly and carefully as you can,

No Rough work has o be done on the OMR Answer Sheet. Space
for rough work has been provided below the questions wherever
needed.

. You must not carry into the examination hall/ room any book.

mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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Section — A : Arithmetic

1. Manish invests Rs. 450 in a business for 4 months and Mahavir invests Rs. 600 for 3
months. What is the share of Mahavir in the total profit of Rs.400?

RS 4 QIQ QIR 450 &1 I9° FLIFIA 3 AIY IR 600 = 661G NAAITE ARG OB |
671G 400 651 RINETER FIRIVIAR DG 696S 629 ?
A) Rs.200 B) Rs.100 C) Rs.300 D) Rs.150
2. Whatis the Mean of (a+b)? and (a-b)? ?
(a+b)2 and (a-b)? @ FIRIAIG 6960 ?
A) a?b2 B) a2+ b2 C) 2ab D) a+b

3. What is the difference between the Median of first 10 natural numbers and the
Median of first 9 natural numbers?

gae 10 & 941Q Q°aIQ 1l JaFl 9 § QR QIR FRIFIOIQ 6966 2S Q1 /¢ 2

A) 1less B) 0.5 more C) 1 more D) 1.51ess
4. What is the Mode of the scores 1,2, 3,4,5,6 ?

1,2,3,4,5, 6 ais QIS0 9089 6863 ?

A) 1 B) A Q) 6 D) Nil
5. If Mean is M, Median is Md, Mode is Mo, what is the relation between Mean, Median
and Mode?

QG ARIAIR M, FRIAI Md N&° 9888 Mo 249, 6068 FRICIS, F1IFl NQ° SIRER FRIEQ AHe @/a?

A) Mo=3Md-2M B) 3Mo-2M=Md C) 2M=3Mo-Md D) None of these
6. 3600 enumerators complete census work of a village in 45 days. How many
enumerators will be engaged to complete the same in 30 days?

3600 QORI 45 GREQ 6AIGY I FRCER! ALY 698 QRUINE | 6960 T8 LI
QEARS Q6M 6QE QINQ 30 GR6Q 9% QRAURER |

A) 5400 B) 5200 C) 5000 - D) None of these

7. If3.7+496+ 13578 +12.1374 =Y, thenY +99 = R ]
QG 3.7 +4.96 + 13.578 + 12.1374 = Y 99, 60969 Y +99 = ?
A) 134.3754 B) 135.3754 C) 133.3754 D) 132.3754

8. If the sum of the first twelve odd numbers is added to the sum of the first twelve even
numbers, then their sum will be ? :
Q@ Qan 12 § agq QIR Q8 gan 12 § g9 LI QAT ABC 6QI6 FQUAN, 6AAFE
IR 6R60629 ?
A) 306 B) 304 C) 302 D) 300
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10.

11.

12.

13.

14.

=

16.

On dividing 59761 by a certain number the quotient is 189 and the remainder is 37.
Find out the divisor.

59761 @ 6@1613 A°HHIFIA QITIKER ASTR 189 IQ° QAIGEAS 37 94 | 6369 QGE 6@6Q 6297
A) 314 B} 312 C) 216 D) 318

Find out the difference between the place values of the two fours in the numeral
7484326.

7484326 A°HITER 23 QA SIAQ YRR F1ISQ IERR 6R6G7?

A) 396000 B) 398000 C) 3960000 D) 39600000
What % of 7.2kg is 45gms?

45 QI917.2 @ .96 @ 90! 6Q6G ?

A) 0.625% B) 0.615% C) 0.635% D) 0.675%

If 90% of ‘P’ = 30% of ‘Q’ and ‘Q’ = ‘X’ % of “P’, then the value ‘X" is ?
a8 90% of ‘P’ = 30% of “Q’ 4&° ‘Q’ = ‘X’ % of ‘P’ §4, 656 ‘X’ @ R 6960 ?
A) 900 B) 800 C) 600 D) 300

In an examination 36% is the pass mark. If an examinee gets 17 marks and fails by 10
marks, what is the maximum mark?

6613 ORIBIEA I FIS 9801 36 | §6¢ ARIRIE 17 IS QIR 10 €IE CiRl 607 6267, AN
QIR FIR 6R6G ?
A) 100 B) 85 Q 75 D) None of these

The average rate of 8 umbrellas and 4 torches is Rs.35.00. If the average rate of
umbrella is Rs.40.00, what is the average rate of the torches?

8 § 901 ¥e° 40 Sa9 QIR Gy 35.00 671 | A7 861Q AT FRY 40.00 €FI 94, 6FA
LR R 6667

A) 25 S C C) 20 D) 35

The average age of 20 boys is 15 years. If the age of 10 girls is added to them, the
average age of all will be 14 years. Then what will be the average age of the girls?

20 94 g2 AR @0Q 15 oF | 9@ 10 B QAR 6326R 6AIT SN, AT LA
QO 14 @d 249 | 6068 U QLR F0QA 6Q6E ?

A) 10 B) 12 <) 13 D) 16

Three containers of size 384kg, 432kg and 480kg contain mixtures of milk and water.
What biggest unit of measurement can measure all these quantities exactly?

384 G.gll, 432 3.9l 99° 480 8.9 ARG FEAIT g 60 V1A 6 AR AGS AT | ATRIR S=lo)
QIOR 999 AQ €9 @ Agd TRAIEg YD AT AR AIRL?

A) 48kg B) 46kg C) 42kg D) 44kg
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17. Six sirens commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 12
seconds respectively. In 40 minutes how many times do they toll together
simultaneously?

225 ARAQ AT QG A FAE I9° Q2UIFEF 2, 4, 6, 8, 10 9F° 12 6A6QRE MRUIFER

QIGE | 40 FG6 ARG F1RIER AR 6RELAR IRAAER QUFER ?
A) 21 times B) 22 times C) 23 times D) 20 times

18. The ratio between the areas of two circles is 9: 49, Find out the ratio between their
circumferences.
90G 900 6IGTRA 2GS 9: 49 | 6AFIAFA UGR UGS 6Q6 62 ?
Ay 7:3 B) 49:3 C) 7:49 ENSeT

19. Distribute Rs.120.00 amongst "A", "B", "C" in such a manner that after deducting
Rs.15, Rs.10 and Rs.5 respectively from them, the proportion of the amounts left with
them will be 2:3:4. '
120.00 o=1q "A", "B" 6 "C" (1I6Q Q0% 949 @M 6AFNFTOIQ QAIFES 15 O, 10 91 99° 5

ol F6AIT ANIAER, ST AIHER A SRIQ AGAIR 2:3:4 6897

A) 45,35, 40 B) 45,40, 35 C) 35,40,45 D) 40, 45,35
20. If the diagonal of a square is 24cm, then its area is___?

69115~ @EI6RGR @4l 24 6QFFCR 696R, OI'Q CIQTR 6R6S 6297

A) 284cm? B) 278cm?2 C) 288cm? D) 298cm?
21. (3B-V16+ (2)3= ?

(3)3-4/16+ (2)°= 6Q6Q 62% ?

A) 31 B) 27 C) 19 D) 23

22. The compound interest of Rs.3000/- for 3 years at 10% interestis___?
- 3000 SFIQ 3 9T6Q §190G1 10 S| ol TINCE 9SG ol 6RES 629?

A) 993 B) 963 C) 960 D) 633
23, Selling a toy at Rs.30/- makes a profit which is twice the loss made by selling at
Rs.18/-. What is the price of the toy?

60IITN 68IRAIQ 18 TFISR TR6M 6L BT 949, 30 FI6Q TREM G 9RgE MW U] EHRFITA

QIE1 666 ?
A) 26 B) 20 . 24 D) 22

24. A man sold two horses for Rs. 300 each. On one of them he gains 20% and on the
other he losses 20%. Find out his total loss or gain.

FR68 6RID 9RG 6AIPIQ F6SIaq 300 SFI6a I99 @l | 69ITR6R 20 9TEe AR N9° ARITER

20 9566 96 99 | 6I'Q 69116 AIR 81 BE G99 9a |
A) Gainof Rs.25 B) LossofRs.25 () LossofRs.20 D) No loss, No Profit

SFS-AEC-16 (A) P.T:O.



4

25. Three partners A, B and C invest Rs.26000, Rs.34000 and Rs.10000 respectively in a
business. Qut of a total profit of Rs.17500, C's shareis___?

5605 2°a1QIa A, B 6 C QI§651 26000, 34000 ¥&° 10000 6&! 69115 QIQQICEa @a6aisl

RQE | AgIe 17500 o7 RIag C @ 2°8 6x6 62 ?
A) 8750 B) 8500 C) 7500 D) 2500

Section — B : English

Instructions : Read the following passage carefully. Answer all the ten questions asked from
the passage by picking out the correct/appropriate answer out of the four alternatives given
against each question below the passage. '

No one can hurt you unless you give permission to be hurt. Someone may say a
harsh word. That is his freedom and your freedom is to accept it or reject it. When someone
or something is not acceptable, reject it in the same way you reject a salesman trying to sell
something that you don’t want. If you don’t reject, it would appear that you have accepted it
at some level. This is the disorder. Also, don’t get lost in asking, why? Instead, ask how you
can deal with this and deal with it wisely. Being wise involves you to internalize things
carefully. You should be alert not to personalize it, if someone says you are a fool. Do not
allow past references of someone calling you a fool come unconsciously and support or
confuse you. Once you have inner alertness, you will not fall prey to your disempowering
self-talk.

26. Find out which of the following has not been used as Noun or Pronoun in the

passage.
A) one it By it C) you D) someone

27. Select which of the following vocabularies has not been used as Connector in the
passage.
A) unless B) when C) instead D) once

28. Pick out one of the following words, as used in the passage, which does not match
with the others.

A) permission B) freedom C) alertness D) acceptable

29. Find out which of the following words has not been used as Infinite Verb in the
passage.
A) toaccept B) tointernalize C) calling D) confuse

30. Select which of the following Verbs / Phrasal Verbs has not been used in Active Voice
in the passage. :

A) tobe hurt B) have accepted C) tosell D) fall prey

SFS-AEC-16 (A)



31.

32.

33.

34.

35.

What do you mean by ‘his freedom’?

A) One’s obligation to hurt you.

B) One’s duty not to hurt you.

C) Someone’s freedom to tell you something unpleasant.

D) Someone’s right to speak you sweet words.

With whom does the author compare a salesman?

A) Someone who hurls abuses at you.

B) A shopkeeper from whom you buy a thing of your choice.
C) Some merchant who deals in clothes.

D) A vender who gains over you to buy his goods.

What is it that the author calls “disorder’?

A) Someone scolds you and you remain calm.

B) Someone tells you hard words and you just ignore it.

C) Somebody says you are a fool and you call him a scoundrel.

D) Someone abuses you and you remain undisturbed.

What does the author mean by ‘being wise’?

A) Accepting someone or something unpleasant.

B) Art of wisely and impersonally dealing with the negative forces.
C) Questioning somebody why he abused you.

D) Recollecting the harsh words someone said to you.

Why does the author ask you to develop ‘inner alertness’?

A) Tt keeps you away from reacting to the hurts of and hurting back others.
B) Inner alertness helps you accept the abuses done to you.

C) You can remember the fouls done upon you.

D) No one will dare to hurt you further.

Direction : Read the following questions with instructions carefully and pick out the correct
and most appropriate answer out of the four options given below each of following

questions?
36. I feel than I did yesterday. (Supply the correct Comparative to fill the
blank) '
A) bad B) worse C) worst D) more bad
37. No other girl in the class is as intelligent as Uma. (Identify the Degree of Comparison)

A) Imperative B) Superlative C) Positive D) Comparative

SFS-AEC-16 (A) P10,



38.

39.

40.

41.

42.

43.

44.

45.

46.

47.

Select the correct question tag for the statement- Barking dog seldom bites, ?
A) does it B) doesn’tit C) isnotit D) won'tit

After driving Professor Kumar to the museum, she dropped him at his hotel. (Select

the correct Passive form from the following).

A) After being driven to the museum, Professor Kumar was dropped at his hotel.

B) Professor Kumar was being driven and dropped at his hotel.

C) After she had driven Professor Kumar to the museum she had dropped him at his
hotel. '

D) After she was driven Professor Kumar to the museum she had dropped him at
his hotel.

They cried out, “Bravo! it is a capital hit !” (Select the correct Indirect Speech)
A) They cried out that it was a capital hit.

B) They exclaimed that it is a capital hit.

C) They exclaimed in applause that it was a capital hit.

D) They shouted that it was a capital hit

Tall man who is walking in lawn is working in Unjversity; (Select the correct
Article/s in sequence to rectify the sentence if required)
A) the, the & a B) a,a & the C) the, the&an D) notrequired

My sister who is doctor in foreign country has written useful article on dentistry.
(Select the correct Article/s in sequence to rectify the sentence if required)

A) a,a&a B) a, an & the C) the,the&an D) the,an&a

We agreed ___the proposal ___ an excursion. (Supply the correct Preposition/s to fill
the blank) !

A) at & for B) to & for C) with & of D) on & of

The aero plane flew Kolkata City and crashed the Bay of Bengal.
(Supply the correct Preposition/s to fill the blank)

A) on & at B) above &in C) over &into D) about & on

Neither Rosalin nor her sister present in the class room yesterday. (Supply the
correct Auxiliary /ies to fill the blank)

A) is B) were C) have been D) was

A herd of cattle grazing in our field since morning. (Supply the correct
Auxiliary/ies to fill the blank)

A) has been B) are C) was D) have been

Usually Nirmala ____ white shirts, but today she
correct Verbs in sequence to fill up the gaps)

A) wear & is wearing B) wears & is wearing
C) wearing & worn D) wearing & has worn

a green one. (Supply the

SFS-AEC-16 (A)



48.

49.

50.

51.

52.

53.

54.

53.

56.

57.

7

I everybody, but nobody admitted _____ my books. (Supply the correct Verbs
to fill the gaps) :
A) asked & saw B) ask & seeing
C) asked & having seen D) ask & had seen
She stood there with tears down her checks. (Supply the correct Verb to
fill the blank)
A) rolling B) drop C) forming D) shed
I to Cuttack tomorrow to see the doctor you . (Supply the correct
Verbs to fill the gaps)
A) go & counsel B) going & guide
C) am going & recommend D) shall be going & advocate
Section — C : Computer Basic Skills
Getting data from a cell located in a different sheet in the same workbook is called-

A) Copying B) Cell Referencing C) Updatin D) Functioning
Py & P g

Which of the following keyboard shortcut can be used for creating a chart from the
selected cells? -

A) F11 B) F10 C) F4 : D) F2
Which function is used to calculate the total characters in a cell?
A) Len B) Length C) Mid D) Sid

Any change in Excel work sheet data can be shared with Word document by-
A) Inserting an Excel file into Word

B) Linking copied Excel data to Word document

C) Copying and Pasting Excel work sheet into Word document

D) All the above

Example of non-numerical data is:-
A) Employee address B) Examination score
C) Bank Balance D) None )

A bootstrap is a-

A) memory device

B) device to support the computer

C) small initialization program to start up a computer
D) an error correction technique

The key will lunch the Start button. .
A) Esc B) shift C) Windows D) Shortcut

SFS-AEC-16 (A) |0 2



58.
59.
60.
61.

62.

63.

64.

65.

66.
8.
68.

69.

70.

In a laser printer, the transfers the image to the paper.

A) laser B) roller C) toner D) drum

Data that is copied from an application is stored inthe _____.

A) driver . B) clipboard C) terminal D) Prompt
Which of the following programs compresses large files into a smaller file?

A) WinZip B) WinShrink C) WinStyle D) None of above
Recently deleted files are stored in

A) Recyclebin °~ B) Desktop C) Taskbar D) My computer
Using Microsoft Word’s Find and Replace feature you can-

A) replace both text and formatting  B) replace text only

C) replace formatting only D) replace document’s name only
Press which key to select different portions of any text by dragging the mouse?
A) Alt B) Ctrl C) Shift D) F12

A major step before taking print of the document is-

A) tosave the document B) to set paper settings

C) to see print view of document D) BothBand C

Word’s Count feature-

A) provides information about the number of words in the document

B) is useful when the length of the document is limited to some number of words
C) displays the number of pages, characters, paragraphs and lines in the document
D) all the above

It is a mark, normally round or a square dot, it is called-

A) number B) bullet C) Indentation D) both Band C
What is the shortcut key for “Find and Replace” dialog box?

A) Ctrl + F B) Ctrl+R C) CarlaH D) Ctrl + Shift + F
What is the shortcut key to “Subscript” the selected text?

A) Ctrl+ = B) Ctrl + - C) Ctrl + Shift + = D) Ctrl + Shift + —
By default, the cell content alignment is-

A) Left aligned B) Text left aligned and numbers right

C) Text right aligned and numbers left D) Centrally aligned 5

From which Tool bar we can change chart type?
A) Chart Tool Bar B) Formatting Tool Bar
C) Fornaula Bar D) Clipboard Bar
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